BK Sekvens, S-torp
KM 1 2022-09-20

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac Par Poang % Namn MID Klubb
1 3 145 65.91 John Svensson - Alve Wendt 57265 17282 Lunds BK
2 9 134 60.91 Annemarie Ritzau - Majvi Pahlsson 81989 78818 BK Sekvens, S-torp - Staffanstorps BK
3 7 129 58.64  Torbjorn Gylje - Christer Ericsson 11004 12224 BK Sekvens, S-torp
4 2 122 55.45 Berry Nielsen - Rolf Méller 5693 12909 Lomma BK
4 12 122 55.45  Gunilla Wallin - Hakan Myrhagen 48390 411 Malmd BK - BK Sekvens, S-torp
6 1 114 51.82 Johnny Nilsson - Ann-Britt Ingerheim 57017 81755 BK Sekvens, S-torp - Svedala BK
7 4 109 49.55 Bo Andersson - Bettina Andersson 403 422 BK Sekvens, S-torp
8 8 104 47.27  Ted Boklin - Mattias Wallin 80306 51010 Bjarreds BK
9 5 96 43.64 Ritva Myrhagen - Laila Hakansson 24760 46805 BK Sekvens, S-torp
9 11 96 43.64  Sven Persson - Per-Ingemar Nilsson 78393 5632 BK Sekvens, S-torp - Lomma BK
11 10 83 37.73  Elly Scholten - Paul Persson 14375 36913 Staffanstorps BK - SPF Club 230
12 6 66 30.00 Christer Bergman - Torsten Sivermark 67276 67281 BK Sekvens, S-torp
1 4 D92 Basta kontrakt 2 4 EK103 Basta kontrakt 3 4 KDKn982 Basta kontrakt
Nord v Kn96 34 N =140 Ost vK3 5NT S =660 Syd v 1097 INT V =-2220
Ingen + K5 NS + 852 ov 4643
#E10943 & ¢ v & NT #DKn98 & ¢ v & NT *9 & ¢ v & NT
+ 104 4 E753 N 105 6 9 6 4087652 «D N 9 109 9 11 s E4 a- NOO170
v 1083 vED75 S 95686 v 102 v Kn8654 S 9 109 9 11 v EK5 v 8643 S00170
¢+ EKn10973 ¢ 862 038744 ¢+ EK4 +1076 033442 ¢ E97 ¢ KKn852 O 1313126 13
»87 #52 V38744 #65 #K1032 V33442 #K8632 #EKNn105 V 1313126 13
& KKn86 & Kn4 # 107653
v K42 v ED97 v DKn2
+D4 + DKn93 + D10
#KDKn6 »E74 «D74
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 7 3NS+1 T 430 100 00| 2 8 3NN+1 «Q 630 80 20|12 2 3NV-2 4K 200 10.0 0.0
12 1 3NS= ¢T 400 80 20| 4 11 3NN+1 4Q 630 80 20|11 10 34 S-2 vA -100 8.0 20
2 8 24S+1 ¥3 140 50 50|10 9 3NN+1 v5 630 80 20| 3 9 44N-3 *A -150 6.0 4.0
4 11 34 S= ¢A 140 50 50| 5 7 3NS= a7 600 40 6.0 7 4 44DN-3 &A -500 40 6.0
6 3 3NS-2 *T -100 10 90| 6 3 2vV-2 A 100 20 80| 6 8 54V= & K -600 20 80
10 9 3NS-2 +9 -100 10 90|12 1 3NS-1 +4 -100 0.0 100| 5 1 64V= 4K  -1370 0.0 10.0
4 410987 Bésta kontrakt 5 453 Bésta kontrakt 6 » K104 Bésta kontrakt
Vast v EK86 44 V =-620 Nord v 106532 3NT O =-400 Ost v 942 ANT S =430
Alla ¢75 NS + ED93 ov ¢ EDKn
»K65 & ¢ v & NT #109 & ¢ v & NT #ED82 & ¢ v & NT
4EKn42 #K63 N4 3533 4Knl09 4ED762 N537 44 4 DKn982 4 E653 N 118 106 10
v973 vDKn S 43635 v K87 vE S537 44 vKD v 10875 S 118 106 10
¢ EK9842 ¢ 103 O 8 107 108 ¢ K642 ¢ Knl087 089599 ¢ K642 41098 024373
*- #ED10932 V 8 107 108 #EK3 #DKn5 V895909 *K4 #Kn9 V25373
4 D5 &~ K84 a7
v 10542 v DKn94 v EKn63
+ DKn6 +5 ¢ 753
#Kn874 #87642 #107653
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 1 44V-2 vK 200 90 10| 1 11 440-1 +5 50 90 10|12 3 34V-3 v2 300 10.0 0.0
7 4 3NO-2 v4 200 90 10| 7 9 440-1 +5 50 9.0 10| 4 10 44 N= 4A 130 80 20
11 10 3¢ V-1 vA 100 6.0 40| 8 5 240+1 vQ -140 6.0 40| 7 9 34V-1 A 100 50 5.0
3 9 2¢V+3 vA -150 40 6.0 4 10 44 O= +5 -420 30 70| 8 5 24V-1 v4 100 50 5.0
6 8 3NO= v2 -600 1.0 90|12 3 44 0= +5 -420 30 70| 1 11 24 V= v2 -110 1.0 9.0
12 2 3NO= 4Q -600 10 90| 6 2 3NV+1 2 -430 0.0 100| 6 2 24 V= ¢ A -110 10 90
7 46 Bésta kontrakt 8 4107 Bésta kontrakt 9 & EKKn872 Bésta kontrakt
Syd vD1082 4v S =620 Vast v D984 3¢ ND-1-100 Nord vD1032 5& O D -1 200
Alla 49532 Ingen * K7 ov + 10
«D752 & ¢ v & NT #EKD96 & ¢ v & NT «KD & ¢ v & NT
4 ED843 & KKn9 N 109 107 8 4 K954 4 ED863 N7 87 45 «D4 46 N3 6 5 107
vKn54  v763 S 109 107 8 vEKKn v1065 S787 45 v974 v EKKn6 S 36 5 107
+ KD ¢ Kn1074 O3 4364 ¢E62 +84 O5 46 838 + D54 ¢ K632 O 106 8 3 5
#Kn64 #1093 V 343614 &Kn75 #432 V 6 46 88 #EKN1086 #5432 V 106 8 3 5
410752 & Kn2 410953
v EK9 v732 v385
+ E86 + DKn10953 + EKn987
#EK8 108 *97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 11 24 V-2 +9 200 70 30| 9 6 2&4N= oA 90 100 00| 6 1 44 N= vA 420 7.0 3.0
8 10 24 V-2 +5 200 70 30| 2 1 3aV-1 *A 50 6.0 40| 9 11 44 N= vK 420 7.0 30
9 6 24V-2 v2 200 70 30| 5 11 34 0-1 8 50 6.0 40|10 7 44 N= vK 420 7.0 3.0
12 4 24 V-2 v8 200 70 30| 8 10 34 O-1 &T 50 6.0 40|12 5 44 N= vK 420 7.0 3.0
7 3 INS+2 v4 150 20 80| 7 3 24 V+1l #A -140 10 90| 3 2 34N+l vK 170 1.0 9.0
2 1 2sV-1 v2 100 0.0 100|12 4 34 O= +Q -140 10 90| 8 4 3aN+1 vK 170 10 90
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10 4 K2 Basta kontrakt 11 4 Kn43 Basta kontrakt 12 & DKn7 Basta kontrakt
Ost v 10987 3¢ S =110 Syd v 109873 5NTV =-460 Vast vE643 5NTV =-460
Alla + Kn986 Ingen *7 NS 492
#853 & ¢ v & NT #EKn43 & ¢ v & NT #D983 & ¢ v & NT
D864 497 N595 765 297652 & ED108 N29 222 49432 & EK106 N6 2222
vKn6542 v EKD S595765 vEKn52 vKD4 S39222 vKn82 vKD75 S62121
+ KD5 ¢43 08 4867 ¢ EK ¢+5 O 104 9 1011 41084 ¢ EKDS5 O 7 10111111
*E #1097642 V 8 4 8 6 7 K9 #107652 vV 104 111111 K65 #E vV 7 10111111
&« EKn1053 & K # 85
v3 v6 v 109
¢+ E1072 + DKn10986432 + Kn763
#KDKn «D8 #Kn10742
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 11 4v V-2 oK 200 100 00| 9 5 3¢ S+1 vA 130 100 00| 7 2 4v0O-1 vT 50 10.0 0.0
8 4 24 S= «A 110 80 20|11 8 4¢DS-1 46 -100 70 30| 9 5 3NO+1 #4 -430 6.0 4.0
3 2 4vV-1 4K 100 50 50(12 6 4¢ S-2 *9 -100 70 3.0(11 8 3NO+1 &T -430 6.0 4.0
12 5 3v V-1 K 100 50 50(10 1 3vN-3 *6 -150 40 6.0(12 6 3NO+1 T -430 6.0 4.0
6 1 3vV= & K -140 20 80| 4 3 5¢4DS-2 49 -300 1.0 90|10 1 44 0+1 &T -450 20 80
10 7 24 S-2 *A -200 0.0 100 7 2 5¢DS-2 +A -300 10 90| 4 3 3NV+2 v3 -460 0.0 10.0
13 & KKn97 Basta kontrakt 14 4 E43 Basta kontrakt 15 41052 Basta kontrakt
Nord v 84 5NT N =660 Ost v EDKn763 74 OD-61400 |Syd vKD84 3v V =-140
Alla + DKn62 Ingen +52 NS + Kn92
#E85 & ¢ v & NT #E10 & ¢ v & NT #974 & ¢ v & NT
4654 4 D2 N9 117 1111 & KKn972 & D1065 N9 9 136 11 + E64 4« K9 N6 34605
vKD97652 vKn S 9 117 1111 v 985 v- S 9 9 136 11 vE52 vKn1093 S6 34675
+84 ¢ K1075 0426 22 ¢ 84 ¢+ D10973 033071 ¢ EK763 ¢854 079978
*K #Kn96432 V 4 2 6 2 2 #KKn9 #8754 V33071 *K6 #D532 vV 7 109 7 8
« E1083 8 4« DKn873
vE103 v K1042 v76
+ E93 + EKKn6 + D10
«D107 #D632 #EKnN108
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 7 3NS+1 vK 630 100 00|11 2 4vy N+2 a5 480 100 00|12 8 24DS= ¢A 670 10.0 0.0
8 3 44 S= vK 620 80 20| 1 9 4vy N+l 46 450 6.0 40| 2 10 3¢ V= a5 -110 80 20
11 2 3vDV-2 &A 500 6.0 40| 5 4 4vy N+1 4Q 450 6.0 40(11 7 2¢ O+2 &T -130 6.0 4.0
5 4 2vyDV-1 #A 200 30 7.0(10 6 4vy N+l T 450 6.0 40| 6 5 INV+2 v4 -150 30 7.0
10 6 24 N+3 vJ 200 30 7.0 8 3 44DO-2 ¢A 300 20 80| 9 4 INV+2 v4 -150 30 70
1 9 34S+1 vK 170 0.0 100(12 7 6v N-1 a5 -50 0.0 100 1 3 3NV= v4 -400 0.0 10.0
16 & KKn3 Bésta kontrakt 17  KDKn4 Bésta kontrakt 18 4 E107532 Bésta kontrakt
Vast v Kn5 34 V =-140 Nord v2 54 N =450 Ost v Kn87 64 S =1430
ov 49872 Ingen + KKn NS *+K
#D876 & ¢ v & NT #EK10642 & ¢ v & NT #1073 & ¢ v & NT
& E652 4984 N7 4344 4763 482 N 10117 117 494 4« Kn6 N 119 7 128
v EK1062 vD843 S7 4344 vD73 vEKn10854 S 10117 117 vEKD54 v9632 S 119 7 128
¢E4 ¢+ KD53 06 89 9 8 ¢1085 ¢E74 0326 22 ¢ 75 ¢ DKn643 014611
*43 #Kn9 V68998 D873 #Kn9 V32622 #8642  &KKn V14611
4 D107 « E1095 ~KD8
v 97 v K96 v10
+ Kn106 + D9632 + E10982
#EK1052 «5 #ED95
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 3 4v V-1 *6 100 100 0.0 3 11 44 N+1 ¢A 450 80 20| 3 11 44 N+2 &K 680 9.0 1.0
9 4 29y V+1l 43 -140 70 30| 7 6 54 S-= v3 450 80 20| 7 6 44 N+2 ¢ 680 9.0 1.0
12 8 3v V= *7 -140 70 3.0(12 9 54 N= ¢+A 450 80 20| 1 8 44 N+l 46 650 40 6.0
6 5 INV+2 &8 -150 40 60| 2 4 3aN+2 vA 200 40 60| 2 4 44N+l v6 650 40 6.0
2 10 5+ S-4 ¢A -200 20 80|10 5 54 N-1 vA -50 20 80(10 5 44 N+1 ¥9 650 40 6.0
11 7 4v 0= *K -620 0.0 100 1 8 44 N-2 *A -100 0.0 10.0(12 9 34 N+2 ¥9 200 0.0 10.0
19 4 D1082 Bésta kontrakt 20 4 ED743 Bésta kontrakt 21 4 876 Bésta kontrakt
Syd v E10875 34 S =140 Vast vD ANT V =-630 Nord v K106 2NT N =120
oV + Kn9 Alla 49753 NS + KKn5
»54 & ¢ v & NT »E87 & ¢ v & NT #DKn108 & ¢ v & NT
29653 &K N856 97 210862 &KKn9 N6 3 443 aKn54 aE2 N7 6 6 88
vKn3  vK9642 S856 97 vEKn84 9732 S6 3443 vKn54 vE832 S6 56 86
+ D843 ¢ E1075 058745 + K ¢EDKn104 O 7 8 8 9 10 443 ¢ D10987 O6 765 4
#EK6 #1093 V57645 #D1064 #K V7889 10 #K9754 #E2 V67644
« EKn74 a5 « KD1093
vD v K1065 v D97
+ K62 + 862 + E62
#DKn872 #Kn9532 #63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 52v0-3 «Q 300 100 00| 3 5 2¢0-2 a5 200 90 10| 4 6 24S-1 +3 -100  10.0 0.0
2 9 INS+2 3 150 80 20(12 10 2¢ O-2 5 200 90 10| 1 7 2v0O= aT -110 80 20
4 1 14 S+1 ¢8 110 40 60|11 6 2¢0-1 a5 100 6.0 40| 3 10 34 S-2 *4 -200 40 6.0
8 7 24 S= 45 110 40 6.0 2 9 2vV+l &A -140 40 60| 9 8 34S-2 *4 -200 40 6.0
12 10 24 S= v] 110 40 60| 4 1 2NV+1 3 -150 20 80|12 11 34 S-2 *4 -200 40 6.0
11 6 Pass 0.0 100| 8 7 14 N-2 v3 -200 0.0 100 5 2 445S-3 *4 -300 0.0 10.0
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22 4842

Ost vED1063

ov + EK95
a3

& EK6 453
vKKn982 v74

* 742 + Kn1086
109 &#K8654
& DKn1097
v5
+D3
&#EDKnN72
Par Kontr Ut
3 10 46 S+1 &T
9 8 44 S+1 &T
4 6 44 S= *2
12 11 44 S= &K
5 2 24 S+2 &T
1 7 24 S+1 &T

Basta kontrakt
54 S =450
& ¢ v & NT
N9 9 8 119
S99 8 119
044423
V43 423
Res Poang
450 9.0 1.0
450 9.0 1.0
420 50 5.0
420 50 5.0
170 20 8.0
140 0.0 10.0
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